

## Subclasses of BI-Univalent Functions Associated with the Multiplier Transformation

D. D. Bobalade<sup>1</sup>, N. D. Sangle<sup>2</sup>

<sup>1</sup>Department of Mathematics, Shivaji University, Kolhapur (M.S.), India 416004

<sup>2</sup>Department of Mathematics, D.Y. Patil College of Engineering and Technology, Kasaba Bawada,  
 Kolhapur (M.S.), India 416006

<sup>1</sup>dnyaneshwar.boblade@gmail.com

<sup>2</sup>navneet\_sangle@rediffmail.com

### Abstract

In this paper, we introduced two new subclasses of analytic bi-univalent functions by using multiplier transformation in the unit disc  $U = \{z \in \mathbb{C} : |z| < 1\}$ . The coefficient bounds of  $|a_2|$  and  $|a_3|$  for functions in these two new subclasses are obtained.

**Keywords**— Bi-univalent, Salagean operator, Multiplier transformation, Analytic functions.

### I. INTRODUCTION

Let  $A$  denote the class of analytic functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

defined in the unit disc  $U$ . The class of functions belongs to  $A$  and univalent in  $U$  is denoted by  $S$ . We know, for every  $f(z)$  belongs to  $S$  has an inverse  $f^{-1}(z)$  exist. Inverse function defined as

$$f^{-1}(f(z)) = z, z \in U \quad \text{and} \quad f(f^{-1}(w)) = w, w \in U \left( |w| < r_0(f), r_0(f) \geq \frac{1}{4} \right),$$

where

$$f^{-1}(w) = g(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + L \quad (1.2)$$

If  $f^{-1}$  and  $f$  are univalent in  $U$  then  $f \in A$  is called bi-univalent in  $U$ . Symbol  $\Sigma$  denote the class of bi-univalent functions in  $U$ . In 1967, Lewin [7] was investigated the class of bi-univalent functions and showed that  $|a_2| < 1.51$ . Afterward, Brannan and Clunie [1] conjectured that  $|a_2| \leq \sqrt{2}$ . Brannan and Taha [2] defined the certain subclasses of bi-univalent functions as follows:

A function  $f(z)$  of the form (1.1) said to be in the class  $S_{\Sigma}^*(\alpha)$  ( $0 < \alpha \leq 1$ ) if

$$f \in \Sigma, \left| \arg \left( \frac{zf'(z)}{f(z)} \right) \right| < \frac{\alpha\pi}{2} \quad (z \in U) \quad \text{and} \quad \left| \arg \left( \frac{wg'(w)}{g(w)} \right) \right| < \frac{\alpha\pi}{2} \quad (w \in U),$$

where the function  $g$  given by (1.2). Denote  $S_{\Sigma}^*(\alpha)$  the class of strongly bi-starlike functions of order  $\alpha$  ( $0 < \alpha \leq 1$ ). Similarly, a function  $f(z)$  of the form (1.1) said to be in the class  $K_{\Sigma}(\alpha)$  ( $0 < \alpha \leq 1$ ) if

$$f \in \Sigma, \left| \arg \left( 1 + \frac{zf'(z)}{f(z)} \right) \right| < \frac{\alpha\pi}{2} \quad (z \in U) \quad \text{and} \quad \left| \arg \left( 1 + \frac{wg'(w)}{g(w)} \right) \right| < \frac{\alpha\pi}{2} \quad (w \in U),$$

where the function  $g$  given by (1.2). Denote  $K_{\Sigma}(\alpha)$  the class of strongly bi-convex functions of order  $\alpha(0 < \alpha \leq 1)$ . Now, A function  $f(z)$  of the form (1.1) said to be in the class  $S_{\Sigma}^*(\beta)(0 \leq \beta < 1)$  if

$$f \in \Sigma, \Re \left( \frac{zf'(z)}{f(z)} \right) > \beta \quad (z \in U) \quad \text{and} \quad \Re \left( \frac{wg'(w)}{g(w)} \right) > \beta \quad (w \in U),$$

where the function  $g$  given by (1.2). Denote  $S_{\Sigma}^{*s}(\beta)$  the class of strongly bi-starlike functions of order  $\beta(0 \leq \beta < 1)$ . Similarly, define  $K_{\Sigma}(\beta)$  the class of bi-convex functions of order  $\beta(0 \leq \beta < 1)$ . Recently, bounds of various subclasses of bi-univalent functions have been investigated by several authors (see [3], [4], [8]-[10], [13]).

Cho and Strivastava [5] introduced the operator  $I_{\gamma}^k : A \rightarrow A$  defined as

$$I_{\gamma}^k f(z) = z + \sum_{n=2}^{\infty} \left( \frac{n+\gamma}{1+\gamma} \right)^k a_n z^n, \quad \gamma \geq 0, k \in \mathbb{N}_0 = \mathbb{N} \cup \{0\} \quad (1.3)$$

For  $\gamma = 0$  the operator  $I_{\gamma}^k$  reduced to the Salagean operator introduced by Salagean [12].

In 2015, J. Jothibasu [6] defines the subclass  $S_{\Sigma}^{k,\lambda}(\alpha)$  consisting of analytic functions  $f(z)$  of the form (1.1) and  $f(z)$  satisfies the following conditions:

$$f \in \Sigma, \left| \arg \left( \frac{D^{k+1}f(z)}{(1-\lambda)D^k f(z) + \lambda D^{k+1}f(z)} \right) \right| < \frac{\alpha\pi}{2}, \quad 0 < \alpha \leq 1, 0 \leq \lambda < 1, z \in U \quad (1.4)$$

and

$$\left| \arg \left( \frac{D^{k+1}g(w)}{(1-\lambda)D^k g(w) + \lambda D^{k+1}g(w)} \right) \right| < \frac{\alpha\pi}{2}, \quad 0 < \alpha \leq 1, 0 \leq \lambda < 1, w \in U, \quad (1.5)$$

Where the function  $g$  of the form (1.2) and  $D^k$  is the differential operator introduced by Salagean [12] and defined as

$$D^k f(z) = z + \sum_{n=2}^{\infty} n^k a_n z^n, \quad k \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$$

Also, J. Jothibasu [6] define the subclass  $M_{\Sigma}^{k,\lambda}(\beta)$  consisting of analytic functions  $f(z)$  of the form (1.1) and  $f(z)$  satisfies the following conditions:

$$f \in \Sigma, \Re \left( \frac{D^{k+1}f(z)}{(1-\lambda)D^k f(z) + \lambda D^{k+1}f(z)} \right) > \beta, \quad 0 \leq \beta < 1, 0 \leq \lambda < 1, z \in U \quad (1.6)$$

and

$$\Re \left( \frac{D^{k+1}g(w)}{(1-\lambda)D^k g(w) + \lambda D^{k+1}g(w)} \right) > \beta, \quad 0 \leq \beta < 1, 0 \leq \lambda < 1, w \in U \quad (1.7)$$

Where the function  $g$  of the form (1.2) and  $D^k$  is the differential operator introduced by Salagean [12].

Motivated by this aforementioned work, we introduced two new subclasses of analytic and bi-univalent functions associated with multiplier transformation. Also, obtain the coefficient bounds of  $|a_2|$  and  $|a_3|$  for functions in these two new subclasses.

**Lemma 1.1.**[11] Let  $\mathcal{P}$  be the family of all analytic functions  $h(z)$  of the form  $h(z) = 1 + c_1z + c_2z^2 + c_3z^3 + \dots$  and  $\Re(h(z)) > 0$  defined in  $U$ . If  $h \in \mathcal{P}$  then  $|c_n| \leq 2$  for each  $n$ .

## II. COEFFICIENT BOUNDS FOR THE FUNCTION CLASS $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$

**Definition 2.1.** A function  $f(z)$  of the form (1.1) is said to be in the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$ ,  $0 < \alpha \leq 1, 0 \leq \lambda < 1, \gamma \geq 0, k \in \mathbb{N}_0$  if

$$f \in \Sigma, \left| \arg \left( \frac{I_{\gamma}^{k+1} f(z)}{(1-\lambda)I_{\gamma}^k f(z) + \lambda I_{\gamma}^{k+1} f(z)} \right) \right| < \frac{\alpha\pi}{2} \quad (z \in U) \quad (2.1)$$

and

$$\left| \arg \left( \frac{I_{\gamma}^{k+1} g(w)}{(1-\lambda)I_{\gamma}^k g(w) + \lambda I_{\gamma}^{k+1} g(w)} \right) \right| < \frac{\alpha\pi}{2} \quad (w \in U), \quad (2.2)$$

where  $g$  is the function of the form (1.2).

For particular values of  $k, \lambda$  and  $\gamma$ , the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$  reduce to various subclasses as:

(1) For  $\gamma = 0$  the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$  reduce to  $S_{\Sigma}^{k,\lambda}(\alpha)$ , studied by Jothibasu [6], (2) For  $\gamma = 0, \lambda = 0, k = 0$  the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$  reduce to  $S_{\Sigma}^*(\alpha)$ , studied by Brannan and Taha[2], (3) For  $\gamma = 0, \lambda = 0, k = 1$  the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$  reduce to  $K_{\Sigma}(\alpha)$ , studied by Brannan and Taha[2], (4) For  $\gamma = 0, k = 0$  the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha)$  reduce to  $G_{\Sigma}(\alpha, \lambda)$ , studied by G. Murugusundaramoorthy et al [10].

**Theorem 2.1.** Let function  $f(z)$  of the form (1.1) be in the class  $S_{\Sigma}^{k,\lambda,\gamma}(\alpha), 0 < \alpha \leq 1, 0 \leq \lambda < 1$  and  $\gamma \geq 0$ , then

$$|a_2| \leq \frac{2\alpha(1+\gamma)^{k+1}}{\sqrt{4\alpha(1+\gamma)^{k+1}(1-\lambda)(3+\gamma)^k + [2\alpha((\lambda^2-1) + (\lambda-1)\gamma) - (\alpha-1)(1-\lambda)^2](2+\gamma)^{2k}}} \quad (2.3)$$

and

$$|a_3| \leq \frac{\alpha(1+\gamma)^{k+1}}{(1-\lambda)(3+\gamma)^k} + \frac{4\alpha^2(1+\gamma)^{2k+2}}{(1-\lambda)^2(2+\gamma)^{2k}} \quad (2.4)$$

**Proof.** From conditions (2.1) and (2.2), we have

$$\frac{I_{\gamma}^{k+1} f(z)}{(1-\lambda)I_{\gamma}^k f(z) + \lambda I_{\gamma}^{k+1} f(z)} = [p(z)]^{\alpha} \quad (2.5)$$

and

$$\frac{I_{\gamma}^{k+1}g(w)}{(1-\lambda)I_{\gamma}^k g(w) + \lambda I_{\gamma}^{k+1}g(w)} = [q(w)]^{\alpha}$$

(2.6)

Where functions  $p(z)$  and  $q(w)$  are in  $\mathcal{O}$  and have the forms:

$$p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + K$$

(2.7)

$$q(w) = 1 + q_1w + q_2w^2 + q_3w^3 + K$$

(2.8)

Now, equating the coefficients in (2.5) and (2.6), we get

$$\left(\frac{1-\lambda}{1+\gamma}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^k a_2 = \alpha p_1$$

(2.9)

$$\left(\frac{(\lambda^2-1)+(\lambda-1)\gamma}{(1+\gamma)^2}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 + \left(\frac{2-2\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_3 = \frac{1}{2}[\alpha(\alpha-1)p_1^2 + 2\alpha p_2]$$

(2.10)

$$-\left(\frac{1-\lambda}{1+\gamma}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^k a_2 = \alpha q_1$$

(2.11)

and

$$\left(\frac{(\lambda^2-1)+(\lambda-1)\gamma}{(1+\gamma)^2}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 + \left(\frac{2-2\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k (2a_2^2 - a_3) = \frac{1}{2}[\alpha(\alpha-1)q_1^2 + 2\alpha q_2]$$

(2.12)

From (2.9) and (2.11), we get

$$p_1 = -q_1$$

(2.13)

and

$$2\left(\frac{1-\lambda}{1+\gamma}\right)^2\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 = \alpha^2(p_1^2 + q_1^2)$$

(2.14)

From (2.10), (2.12) and (2.14), we get

$$a_2^2 = \frac{(1+\gamma)^{2k+2} \alpha^2 (p_2 + q_2)}{4\alpha(1+\gamma)^{k+1}(1-\lambda)(3+\gamma)^k + [2\alpha((\lambda^2-1)+(\lambda-1)\gamma) - (\alpha-1)(1-\lambda)^2](2+\gamma)^{2k}}$$

By Lemma 1.1,  $|p_n| \leq 2$  and  $|q_n| \leq 2$ . Hence

$$|a_2| \leq \frac{2\alpha(1+\gamma)^{k+1}}{\sqrt{4\alpha(1+\gamma)^{k+1}(1-\lambda)(3+\gamma)^k + [2\alpha((\lambda^2-1)+(\lambda-1)\gamma) - (\alpha-1)(1-\lambda)^2](2+\gamma)^{2k}}}$$

Now, subtracting equation (2.12) from equation (2.10), we obtain

$$\left(\frac{4-4\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_3 - \left(\frac{4-4\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_2^2 = \frac{1}{2}[\alpha(\alpha-1)(p_1^2 - q_1^2) + 2\alpha(p_2 - q_2)]$$

(2.15)

From (2.13), (2.14) and (2.15), we get

$$a_3 = \frac{\alpha(p_2 - q_2)(1 + \gamma)^{k+1}}{(4 - 4\lambda)(3 + \gamma)^k} + \frac{\alpha^2(p_1^2 + q_1^2)(1 + \gamma)^{2k+2}}{2(1 - \lambda)^2(2 + \gamma)^{2k}} \quad (2.16)$$

By Lemma 1.1,  $|p_n| \leq 2$ ,  $|q_n| \leq 2$  and apply on (2.16), we obtain

$$|a_3| \leq \frac{\alpha(1 + \gamma)^{k+1}}{(1 - \lambda)(3 + \gamma)^k} + \frac{4\alpha^2(1 + \gamma)^{2k+2}}{(1 - \lambda)^2(2 + \gamma)^{2k}}$$

The proof is completed.

If we take  $\gamma = 0$  in Theorem (2.1), then Corollary (2.2) is obtained.

**Corollary 2.2.**([6]) Let function  $f(z)$  of the form (1.1) be in the class  $S_{\Sigma}^{k,\lambda}(\alpha)$ ,  $0 < \alpha \leq 1$ ,  $0 \leq \lambda < 1$ , then

$$|a_2| \leq \frac{2\alpha}{\sqrt{|4\alpha(1 - \lambda)3^k + [2\alpha(\lambda^2 - 1) - (\alpha - 1)(1 - \lambda)^2]2^{2k}|}} \quad \text{and}$$

$$|a_3| \leq \frac{\alpha}{(1 - \lambda)3^k} + \frac{4\alpha^2}{(1 - \lambda)^2 2^{2k}}$$

If we take  $\gamma = 0$  and  $\lambda = 0$  in Theorem (2.1), then Corollary (2.3) is obtained.

**Corollary 2.3** ([6]). Let function  $f(z)$  of the form (1.1) be in the class  $S_{\Sigma}^k(\alpha)$ , then

$$|a_2| \leq \frac{2\alpha}{\sqrt{4\alpha 3^k + (1 - 3\alpha)2^{2k}}} \quad \text{and} \quad |a_3| \leq \frac{\alpha}{3^k} + \frac{4\alpha^2}{2^{2k}}$$

### III. COEFFICIENT BOUNDS FOR THE FUNCTION CLASS $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$

**Definition 3.1.** A function  $f(z)$  of the form (1.1) is said to be in the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$ ,  $0 \leq \beta < 1$ ,  $0 \leq \lambda < 1$ ,  $\gamma \geq 0$ , if

$$f \in \Sigma, \quad \Re \left( \frac{I_{\gamma}^{k+1} f(z)}{(1 - \lambda)I_{\gamma}^k f(z) + \lambda I_{\gamma}^{k+1} f(z)} \right) > \beta \quad (z \in U) \quad (3.1)$$

and

$$(3.2)$$

$$\Re \left( \frac{I_{\gamma}^{k+1} g(w)}{(1 - \lambda)I_{\gamma}^k g(w) + \lambda I_{\gamma}^{k+1} g(w)} \right) > \beta \quad (w \in U)$$

where  $g$  is the function of the form (1.2).

For particular values of  $k, \lambda$  and  $\gamma$ , the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$  reduce to various subclasses as:

- (1) For  $\gamma = 0$  the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$  reduce to  $M_{\Sigma}^{k,\lambda}(\beta)$ , studied by Jothibasu [6], (2) For  $\gamma = 0, \lambda = 0, k = 0$  the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$  reduce to  $S_{\Sigma}^*(\beta)$ , studied by Brannan and Taha [2], (3) For  $\gamma = 0, \lambda = 0, k = 1$  the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$  reduce to  $K_{\Sigma}(\beta)$ , studied by Brannan and Taha[2], (4) For  $\gamma = 0, k = 0$  the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$  reduce to  $M_{\Sigma}(\beta, \lambda)$ , studied by G. Murugusundaramoorthy et.al [10].

**Theorem 3.1.** Let function  $f(z)$  of the form (1.1) be in the class  $M_{\Sigma}^{k,\lambda,\gamma}(\beta)$ ,  $0 \leq \beta < 1$ ,  $0 \leq \lambda < 1$ ,  $\gamma \geq 0$ , then

$$|a_2| \leq \sqrt{\frac{2(1-\beta)(1+\gamma)^{2k+2}}{|2(1-\lambda)(1+\gamma)^{k+1}(3+\gamma)^k + [(\lambda^2-1) + (\lambda-1)\gamma](2+\gamma)^{2k}|}}$$

(3.3)

and  
(3.4)

$$|a_3| \leq \frac{4(1-\beta)^2(1+\gamma)^{2k+2}}{(1-\lambda)^2(2+\gamma)^{2k}} + \frac{(1-\beta)(1+\gamma)^{k+1}}{(1-\lambda)(3+\gamma)^k}$$

**Proof.** From conditions (3.1) and (3.2) that there exist  $p, q \in \mathcal{P}$  such that

$$\frac{I_\gamma^{k+1} f(z)}{(1-\lambda)I_\gamma^k f(z) + \lambda I_\gamma^{k+1} f(z)} = \beta + (1-\beta)p(z)$$

(3.5)

and  
(3.6)

$$\frac{I_\gamma^{k+1} g(w)}{(1-\lambda)I_\gamma^k g(w) + \lambda I_\gamma^{k+1} g(w)} = \beta + (1-\beta)q(w)$$

Where functions  $p(z)$  and  $q(w)$  belong to  $\mathcal{P}$  and have the forms:

$$p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + K$$

(3.7)

$$q(w) = 1 + q_1 w + q_2 w^2 + q_3 w^3 + K$$

(3.8)

Now, equating the coefficients in (3.5) and (3.6), we get

$$\left(\frac{1-\lambda}{1+\gamma}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^k a_2 = (1-\beta)p_1$$

(3.9)

$$\left(\frac{(\lambda^2-1) + (\lambda-1)\gamma}{(1+\gamma)^2}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 + \left(\frac{2-2\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_3 = (1-\beta)p_2$$

(3.10)

$$-\left(\frac{1-\lambda}{1+\gamma}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^k a_2 = (1-\beta)q_1$$

(3.11)

and

$$\left(\frac{(\lambda^2-1) + (\lambda-1)\gamma}{(1+\gamma)^2}\right)\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 + \left(\frac{2-2\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k (2a_2^2 - a_3) = (1-\beta)q_2$$

(3.12)

From (3.9) and (3.11), we get

$$p_1 = -q_1$$

(3.13)

and

(3.14)

$$2\left(\frac{1-\lambda}{1+\gamma}\right)^2\left(\frac{2+\gamma}{1+\gamma}\right)^{2k} a_2^2 = (1-\beta)^2(p_1^2 + q_1^2)$$

From (3.10), (3.12) and (3.14), we get

$$a_2^2 = \frac{(1-\beta)(p_2 + q_2)(1+\gamma)^{2k+2}}{4(1-\lambda)(1+\gamma)^{k+1}(3+\gamma)^k + 2[(\lambda^2 - 1) + (\lambda - 1)\gamma](2+\gamma)^{2k}}$$

By Lemma 1.1,  $|p_n| \leq 2$  and  $|q_n| \leq 2$ . Hence

$$|a_2| \leq \sqrt{\frac{2(1-\beta)(1+\gamma)^{2k+2}}{|2(1-\lambda)(1+\gamma)^{k+1}(3+\gamma)^k + [(\lambda^2 - 1) + (\lambda - 1)\gamma](2+\gamma)^{2k}|}}$$

Now, subtracting equation (3.12) from equation (3.10), we obtain

$$\left(\frac{4-4\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_3 - \left(\frac{4-4\lambda}{1+\gamma}\right)\left(\frac{3+\gamma}{1+\gamma}\right)^k a_2^2 = (1-\beta)(p_2 - q_2) \quad (3.15)$$

From (3.13), (3.14) and (3.15), we get

$$a_3 = \frac{(1-\beta)(p_2 - q_2)(1+\gamma)^{k+1}}{(4-4\lambda)(3+\gamma)^k} + \frac{(1-\beta)^2(p_1^2 + q_1^2)(1+\gamma)^{2k+2}}{2(1-\lambda)^2(2+\gamma)^{2k}} \quad (3.16)$$

By Lemma 1.1,  $|p_n| \leq 2$ ,  $|q_n| \leq 2$  and apply on (3.16), we obtain

$$|a_3| \leq \frac{4(1-\beta)^2(1+\gamma)^{2k+2}}{(1-\lambda)^2(2+\gamma)^{2k}} + \frac{(1-\beta)(1+\gamma)^{k+1}}{(1-\lambda)(3+\gamma)^k}$$

The proof is completed.

If we take  $\gamma = 0$  in Theorem (3.1), then Corollary (3.2) is obtained.

**Corollary 3.2.**([6]) Let function  $f(z)$  of the form (1.1) be in the class  $M_{\Sigma}^{k,\lambda}(\beta)$ ,  $0 \leq \beta < 1, 0 \leq \lambda < 1$ , then

$$|a_2| \leq \sqrt{\frac{2(1-\beta)}{|2(1-\lambda)3^k + (\lambda^2 - 1)2^{2k}|}} \quad \text{and} \quad |a_3| \leq \frac{4(1-\beta)^2}{(1-\lambda)^2 2^{2k}} + \frac{(1-\beta)}{(1-\lambda)3^k}$$

If we take  $\gamma = 0$  and  $\lambda = 0$  in Theorem (3.1), then Corollary (3.3) is obtained.

**Corollary 3.3.**([6]). Let function  $f(z)$  of the form (1.1) be in the class  $M_{\Sigma}^k(\beta)$ , then

$$|a_2| \leq \sqrt{\frac{1-\beta}{3^k - 2^{2k-1}}} \quad \text{and} \quad |a_3| \leq \frac{4(1-\beta)^2}{2^{2k}} + \frac{(1-\beta)}{3^k}$$

#### REFERENCES

- [1] D. A. Brannan and J. G. Clunie (Eds.), "Aspects of Contemporary Complex Analysis (Proceedings of the NATO Advanced Study Institute held at the University of Durham, Durham)", Academic Press, New York and London, pp. 1-20, 1979.
- [2] D. A. Brannan and T. S. Taha, "On some classes of bi-univalent functions," in: S.M. Mazhar, A.Hamoui, N. S. Faour (Eds.) Mathematical Analysis and Its Applications, Kuwait, February 18-21, 1985, in: KFAS Proceedings Series, Vol. 3, Pergamon Press (Elsevier Science Limited), Oxford, 1988, pp. 53-60; see also Studia Univ. Babe-Bolyai Math. 31, no. 2, pp.70-77, 1986.
- [3] D. D. Bobalade and N. D. Sangle, "Coefficient estimates for a certain subclass of bi-univalent functions defined by multiplier transformation", International Journal Research and Analytic Review, DOI-http://doi.one/10.1729/Journal.21236, Vol. 6(1), pp.123-128, 2019.

- [4] S. Bulut, “Coefficient estimates for new subclasses of analytic and bi-univalent functions defined by Al-Oboudi differential operator”, *J. Fun. Spaces Appl.*, Volume 2013, Article ID 181932, pp.1-7.
- [5] N.E. Cho and H.M. Srivastava, “Argument estimates of certain analytic functions defined by a class of multiplier transformations”, *Mathematical and Computer Modelling*, Vol.37, pp.39-49, 2003.
- [6] J. Jothibas, “Certain subclasses of bi-univalent functions defined by Salagean operator”, *Electronic Journal of Mathematical Analysis and Application*, Vol.3(1), pp.150-157, 2015.
- [7] M. Lewin, “ On a coefficient problem for bi-univalent functions”, *Proc. Amer. Math. Soc.*, Vol.18, pp. 63-68, 1967.
- [8] N. Magesh, T. Rosy, and S. Varma, “Coefficient estimate problem for a new subclass of bi-univalent functions”, *J. Complex Anal.*, Volume 2013, Article ID 474231, pp.1-3.
- [9] N. Magesh and J. Yamini, “Coefficient bounds for certain subclasses of bi-univalent functions”, *Internat. Math. Forum*, Vol.8, pp.1337-1344, 2013.
- [10] G. Murugusundaramoorthy, N. Magesh and V. Prameela, “Coefficient bounds for certain subclasses of bi-univalent functions”, *Abs. Appl. Anal.*, Volume 2013, Article ID 573017, pp.1-3.
- [11] C. Pommerenke, “Univalent Functions”, Vandenhoeck and Ruprecht, Gottingen, Germany, 1975.
- [12] G. S. Salagean, “Subclasses of univalent functions”, *Complex Analysis- Fifth Romanian-Finnish Seminar. Lecture Notes in Mathematics*, Vol. 1013, 362-372, Springer, Berlin, Heidelberg.
- [13] H. M. Srivastava, S. Bulut, M. C. Aglar and N. Yagmur, “ Coefficient estimates for a general subclass of analytic and bi-univalent functions “, *Filomat*, Vol. 27, no.5, (2013), pp.831—842, 2013.